At a math team meeting, the coach wants to give pieces of candy to
each student. The coach knows that there will be 9, 10, 11, or 12
students at the meeting. What is the smallest positive number of
pieces of candy that the coach should take to the meeting to be
certain that each student receives the same number of pieces of
candy and no candy is left over?
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Twelve cowboys sit in a circle around a bonfire. Each
observes that his age (viewed as an integer) is the
average of the ages of his left and right neighbors.
Which of the following could be the sum of their ages?
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On Tuesday the price of gas was 5% more expensive
that on Monday. On Wednesday the price went
down by 2%. If a gallon of gas cost $ 3.59 on
Wednesday, how much did it cost on Monday?
Please, round your answer to two decimal places.
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How many integers between 1 and 2015 are
multiples of 3 or 4?
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It takes a paddle boat 50 minutes to travel 4 miles
up a river and 4 miles back, going at a steady
speed of 10 miles per hour (with respect to the
water). Find the speed of the current in miles per

hour.
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12 points lie in a plane in such a way that exactly 5
of the points are on one straight line and a part
from these 5 points, no three points lie on a
straight line. Find the total number of distinct
triangles that can be drawn with vertices on the
12 points.
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A pick-up truck is fitted with new tires which have a
diameter of 44 inches. How fast will the pick-up
truck be moving when the wheels are rotating at
275 revolutions per minute? Express the answer

in miles per hour rounded to the nearest whole
number.
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There are 30 people in a room, 60% percent of
whom are men. If no men enter or leave the
room, how many women must enter the room so

that 40% of the total number of people in the
room are men?
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Three neon lights colored red, blue and green flash at
different time intervals. The red light flashes after every
24 seconds, the blue light flashes after every 18 seconds
and the green light after every 15 seconds. If all the
three lights flash together at 8:00 am, how many times
will all three lights flash together by 9:30 am?
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Two points are chosen at random on a circle.
What is the probability that the distance
between them is more than the radius of the
circle?
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Find the last digit of the sum
Ol'+21+4!+..+2010! + 2012!
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Working alone, Ali can wash a hotel restaurant’s
dishes in three hours. Ahmed can do the same job
in six hours. If they worked together, how long
would it take them to complete this task?
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The average age of three girls is 5 years. If a boy
joins the group, then the average age of these
four children is 6. What is the boy’s age?
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If the space shuttle is flying with a speed of 17,321
mi/h at an elevation of 126 miabove the equator
and the equatorial radius of the Earth is 3963 mi,
then how long (tothe nearest minute) does it
take to complete one revolution?
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If 5 elephants can eat 200 peanuts in 8 minutes,
how many elephants are needed to eat 350
peanuts in 10 minutes?
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A group of 200 tourists arrived in Paris. Of those
tourists, 78 knew neither French nor English,75
knew French, and 97 knew English. How many
tourists knew both French and English?
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Sami lights up a candle every 10 minutes. Every
candle burns for exactly 40 minutes. How many
candles are burning exactly 55 minutes after Sami lit

up the first candle?
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If you write the numbers from 1 to 100 then how
many times will you write the digit 7?
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In the Atlantic Ocean the ratio of the mass of the
salt in the water to the mass of unsalted water is
6 : 194. How many kilograms of salt are in 1000
kilograms of sea water?
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Ten percent of the students taking a math exam fail
the exam. Forty percent of the students taking the
exam are boys and fifteen percent of these boys
fail the exam. Twenty girls fail the exam. How
many total students took the exam?
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